Accessories
Mounting accessories

Mounting kit M4 x 50 / Piggyback

Features

— Mounting kit M4 x 50 / Piggyback for GIM500R

Part number

11189609 Mounting kit 3x M4 x 50 DIN912, A 4.3
DIN125, spacers

Scope of delivery

Included: Screw 3x M4 x 50, washer A 4.3, spacers 5 mm

Suitable for
GIM500R
Assembly drawing
3x M4 x 50 DIN912
(1.2 Nm)
O]
& )
/ A 4.3 DIN125
) 5mm
Dimensions

(0

24.1/68 mm/5mm A4.3DIN125 3x M4 x50 DIN912

Baumer 1 www.baumer.com/motion

Subject to madification in technic and design. Errors and omissions excepted.

30/1/2019



